
Grille Installation Instruction 
 

Part# GR08GFH01T/H Application For 2010-2013 Acura MDX 
 

 

 
Page 1 of 3 

 

 

Rev. 191001 

The instruction here is for your reference only. You may need to bend the grille a little bit to 

adjust to fit. We strongly recommend the professional installer for best result. We are not 
responsible for any damage caused by the installation. Thank you for choosing our product! 

Parts List 

Item Part Name QTY Description Item Part Name QTY Description 

1 Mesh Grille 1 Stainless steel 5 Top Mounting Plate 1  

2 K-Lock Nuts 12 6-32 6 Emblem Mounting  Plate 1  

3 Double Faced Tape 1  7 Lower Mounting Plate 1  

4 Double Faced Tape 4 #8×1/2″ 8 Black  Washers  2  

 
Install Notes:  Overlay                Replacement                 Drill                     Cut                            

Step Description illustration 

1 
Identify the grille & hardware with parts 
list. 

 

 2 
Remove the radiator support cover by lifting straight up to release the clips and remove the cover (to be 
reinstalled). 

3 Remove the top 10mm fasteners retaining the grille (one per side). 

 

4 
Apply several of masking tape around the perimeter of the factory grille to protect the painted bumper cover 
during the following grille removal procedure. 

5 

Use a push pin release tool to pry down on the center of the lower push pins, separating the grille from the 
bumper cover. The push pins are installed inverted. 
Carefully unclip one tab at a time, working your way from one side to the other. 

× 

 

√ 

 

√ 

 

 

 

× 

 



Grille Installation Instruction 
 

Part# GR08GFH01T/H Application For 2010-2013 Acura MDX 
 

 

 
Page 2 of 3 

 

 

Rev. 191001 

The instruction here is for your reference only. You may need to bend the grille a little bit to 

adjust to fit. We strongly recommend the professional installer for best result. We are not 
responsible for any damage caused by the installation. Thank you for choosing our product! 

 

6 Close-up of the inverted installed factory push fastener showing how to pull out the Center portion of the pin. 

7 Once the lower push fasteners are removed, pull the grille forward and remove it from the bumper cover. 

 

8 
Remove the factory Acura emblem from the factory grille. The emblem is secured with two small phillips 
screws. 

9 
Install the supplied double faced tape to the back of the factory emblem and adhere it to the supplied emblem 
mounting plate (as show). 

10 
Using the supplied large black plastic washers and the factory phillips screws; install the emblem onto the 
mesh grille, making sure the emblem is perfectly centered in the recess. 

 

11 Apply masking tape to the painted bumper cover 1/4″inside the grille opening. 

12 
Tape in 1/2″from the edges of the headlight assemblies that will be visible through the mesh grille and use a 

scotch brite pad to scuff the clear plastic lenses. 



Grille Installation Instruction 
 

Part# GR08GFH01T/H Application For 2010-2013 Acura MDX 
 

 

 
Page 3 of 3 

 

 

Rev. 191001 

The instruction here is for your reference only. You may need to bend the grille a little bit to 

adjust to fit. We strongly recommend the professional installer for best result. We are not 
responsible for any damage caused by the installation. Thank you for choosing our product! 

13 
Paint everything inside the grille opening with flat or semi-gloss black paint that would be visible through the 
mesh grille, including the portions of the headlights scuffed in the previous step. 

 

14 Align the mesh grille into place and reinstall the lower factory push pins removed in step 4. 

15 
Once the grille is flush with the bumper cover, use a 1/16″drill bit to drill through the holes in the lower 

mounting plate and through the bumper cover. 

 

16 
Install the supplied #8×1/2″Black Truss Head Screw (one each side) to secure the lower mounting plate to 

the bumper cover. 

17 Reinstall the 10mm hex head bolts and the factory plastic push pins removed in step2 

18 
If the plate is not tight against the core support, push down on the top plate until it is tight, then drill a 1/8″hole 

through the hole shown and install a #8×1/2″Black Truss Head Screw (each side as needed). 

19 Reinstall the radiator support panel cover, reusing the factory hardware removed in step 2. 

 

20 Installation completed!!! 

 


